
Toutes les Opérations (C)Calculez chaque somme, différence, produit, ou quotient.19 + 4 = 14 × 3 = 17 + 8 = 7 ÷ 7 =120 ÷ 12 = 17 - 7 = 100 ÷ 20 = 11 × 19 =8 × 15 = 5 × 7 = 29 - 20 = 6 + 8 =2 + 3 = 26 - 9 = 198 ÷ 11 = 9 - 4 =15 × 6 = 20 - 3 = 31 - 12 = 13 × 4 =16 + 9 = 18 + 7 = 63 ÷ 9 = 22 - 3 =11 × 11 = 19 + 7 = 13 - 5 = 42 ÷ 14 =17 + 13 = 18 × 7 = 15 - 4 = 18 + 1 =8 × 20 = 2 + 2 = 6 ÷ 3 = 8 × 19 =28 - 19 = 16 × 9 = 234 ÷ 13 = 19 ÷ 19 =8 × 18 = 20 × 9 = 15 × 9 = 9 + 3 =60 ÷ 5 = 27 - 15 = 180 ÷ 15 = 2 + 12 =10 + 15 = 48 ÷ 8 = 140 ÷ 14 = 117 ÷ 13 =56 ÷ 7 = 17 + 3 = 7 + 19 = 2 ÷ 1 =6 + 16 = 26 - 8 = 19 - 17 = 220 ÷ 20 =8 × 11 = 12 - 3 = 12 - 9 = 80 ÷ 16 =110 ÷ 11 = 8 ÷ 4 = 3 + 5 = 27 - 9 =13 - 10 = 16 ÷ 4 = 7 + 14 = 72 ÷ 18 =28 - 20 = 25 - 8 = 5 + 11 = 7 + 10 =2 + 13 = 19 - 1 = 17 × 13 = 1 + 6 =12 × 19 = 28 ÷ 2 = 36 ÷ 12 = 25 ÷ 5 =12 ÷ 6 = 18 - 2 = 15 + 1 = 12 - 4 =7 + 8 = 12 ÷ 4 = 2 × 1 = 224 ÷ 14 =23 - 17 = 19 - 9 = 9 + 10 = 15 + 20 =10 × 2 = 15 × 12 = 11 + 7 = 6 × 3 =Mathslibres.com



Toutes les Opérations (C) RéponsesCalculez chaque somme, différence, produit, ou quotient.19 + 4 = 23 14 × 3 = 42 17 + 8 = 25 7 ÷ 7 = 1120 ÷ 12 = 10 17 - 7 = 10 100 ÷ 20 = 5 11 × 19 = 2098 × 15 = 120 5 × 7 = 35 29 - 20 = 9 6 + 8 = 142 + 3 = 5 26 - 9 = 17 198 ÷ 11 = 18 9 - 4 = 515 × 6 = 90 20 - 3 = 17 31 - 12 = 19 13 × 4 = 5216 + 9 = 25 18 + 7 = 25 63 ÷ 9 = 7 22 - 3 = 1911 × 11 = 121 19 + 7 = 26 13 - 5 = 8 42 ÷ 14 = 317 + 13 = 30 18 × 7 = 126 15 - 4 = 11 18 + 1 = 198 × 20 = 160 2 + 2 = 4 6 ÷ 3 = 2 8 × 19 = 15228 - 19 = 9 16 × 9 = 144 234 ÷ 13 = 18 19 ÷ 19 = 18 × 18 = 144 20 × 9 = 180 15 × 9 = 135 9 + 3 = 1260 ÷ 5 = 12 27 - 15 = 12 180 ÷ 15 = 12 2 + 12 = 1410 + 15 = 25 48 ÷ 8 = 6 140 ÷ 14 = 10 117 ÷ 13 = 956 ÷ 7 = 8 17 + 3 = 20 7 + 19 = 26 2 ÷ 1 = 26 + 16 = 22 26 - 8 = 18 19 - 17 = 2 220 ÷ 20 = 118 × 11 = 88 12 - 3 = 9 12 - 9 = 3 80 ÷ 16 = 5110 ÷ 11 = 10 8 ÷ 4 = 2 3 + 5 = 8 27 - 9 = 1813 - 10 = 3 16 ÷ 4 = 4 7 + 14 = 21 72 ÷ 18 = 428 - 20 = 8 25 - 8 = 17 5 + 11 = 16 7 + 10 = 172 + 13 = 15 19 - 1 = 18 17 × 13 = 221 1 + 6 = 712 × 19 = 228 28 ÷ 2 = 14 36 ÷ 12 = 3 25 ÷ 5 = 512 ÷ 6 = 2 18 - 2 = 16 15 + 1 = 16 12 - 4 = 87 + 8 = 15 12 ÷ 4 = 3 2 × 1 = 2 224 ÷ 14 = 1623 - 17 = 6 19 - 9 = 10 9 + 10 = 19 15 + 20 = 3510 × 2 = 20 15 × 12 = 180 11 + 7 = 18 6 × 3 = 18Mathslibres.com


